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Look at Table 1.6 on page 10 in text. There you should come up values of average water consumption
for conditions asked in the question. There is no right answer, just make sure however that you answer
is logical.
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mason
Text Box
Look at Table 1.6 on page 10 in text.  There you should come up values of average water consumption
for conditions asked in the question.  There is no right answer, just make sure however that you answer is logical.


-z
B Toedbe < & HSO w Y cagher—
- Fred  wolalfn

Melsldn 6D = 22225205 2]

,V(/L)Hzﬁo‘(. = Z&ﬁ/mab -+ &VM + L/C/bﬁ/mb
= QB G/l

4o & Hysoy | wiol
t 2 \ qgﬁ = O0-6 nwles = Ho20,

0-‘5&“0(. Hz oy . ol
65 Ky +ho + /”‘3/

@ 7‘5% P[z‘éatf Eﬂ LSO € Hp by = &3 kq/x-
— Fif %(454@ + Mole Feeteo—

‘ ucles oF 2oliAe
1/(0(41"?4’\0] (&/b - Lb(:b»@ o 2pf i ZWZ]
- g =3 50(04 el
uﬁ(—%ao‘@w é() o = %D/V.:,z,‘ L ‘“"7
Cows’ljg' " hj; :g[. Vo;i:fa{.fﬁ;m wbere auter—

o5 Ho%
0-05" % Hzéf

=

o

I/(M’)le‘i = WVl HeO

= Z(l)-k & = [8%

o



%(efszso‘( > 0.5 k& | o ] (A - VA ]

NS
Uoles oo . oOo5m| nwl | (coon

= Z ol
(84 ( k@
1/(0(6‘0 & vt = Wé‘b,ﬁao‘( -+ HO/ e H2 O
= (Z.47F wol
\/o(ume o‘\> SO(V(:I'M = = ﬂ"’ -+ 30;’/(?
= 0-6-@ct A 50{1/ f—e-z_-
o _ A6 | _
= e M 0567 ¢~ (Rowdy
= e = o.s rell
X 124 %

& 4ars Myl alkote| by volome Tk My, X

corroder— 1L — 24BDL  CoHsOH] 0?‘2"}/
O3~ H,o

Mpnpon = 2(12) + 5 + 1+ = 4@%;

Wos zolole = O4BL < 231 B = o34ka

woles ol te = %:—E(x (m%\% = 2.2 weo|

woles =olod = E’eﬁa(”’my Bl 67 wel

moless wo (b = 2A.06 ol

M= 2 = 2.2q wel = z':__: =12.°c(au%';
o= B2 21 oo ‘“"L@(

21- 06



Lbraliby (N) = Stttz e o]

A‘dﬁwffew@/&(‘ﬂc& “29—-—\(0(959{,;/5‘>

L 125 3Oy L= Gl

Hoooy — 2HT + &0
Z=¥F oF replcadble H s

il = 2 Yo
. 271 | wel |zep  _,
N e R _00%‘%
= 26’4%
Tolow the sthue prec=ss Yor B Huoef )
B)  HyRy —> QHY + PO == 5Tl
S Aol — S+ 2H)  E 2wl
D HsS — zHt + 2 Z = Z |

@ $o:74r cvbe CiH, O, (2 Z_,gg% > Zecbes
loe o8 cofee < 2685 mu

A) zcaée;]lﬁ’)%) Vo= =T ]wcmz_
st | 9 (zso’w.( £
= 2ZGXD 94/
2w 255
b = 2\ xi0f = (OO Epan
) Lt 2x2.65 + 255 @
S MW = &l bl P j:‘;jﬁ( — ool |
C.O4 ... e
MH=— = - o5 el
GD X‘-" O-OH - q.gx/0“4 %(

.04 + 14/



D Bacl, —+R* 4+ 2z 22 ey,
y oY) 26834
o= = = > o<

b) Aﬂzw‘i“* ZAg® + %% z-=z
<) ‘4'“(; (50‘/)3 > ZA(® + 5(%072? =~
‘:D KZHPOL( —» ZkT + POAT + HT

‘1: W.%!’aspezf—(p K+ Z=Z
) ot o] 4o ?Qf'i 2 -5

ez %, - ROIL T B3,

2454 »Aﬂu%/(

Hue 4 rcd’«kke«c/
%.

Ay, - 0635L =





